Con soluciones
Apellidos:

Nombre:

Calcula los siguientes limites en el punto indicado:

1) lin(;\(2x3 -3x%+1) =1
3) llm(3+ij_ +00
X

x—0

5) lim4:4

7) Ilm(—+ 1 J— +00
x—5 | X (x 5)
9) Im(l—i): -

x>0\ X X

11) lim (1- E ]:1

x>0 \ X x“+x

) x2+3
13) | X. =7/2
)x'j;{ x+2}

) x%+3
15) lim x . =0
)x%{ x+2}

17) Ium[\/— x+3} 0

x—3" 2

. x+1
19) | . =
) lim x 2}

x—2 X —
21) Iirr2\+[e" Ln(x + 2)]: -0
no podemos

23) Ilw{Ln(x +2).

3x — 3}

27) lin;[(x +2) Ln(x + 2)] = ind, no podemos

29) lir_r;[ !

1
31) lim x . __1/4
) x'j{)‘{x x? —4x}

33) Ilm[ X+2J =1

X—>00! X~ —

35) Iim{>< +2.3x} =

X—>00 X

37) lim|(x +2).e*]=+ »

2) lim@x* ~3x +1) =4

4) Iim(x+ XHJ = +o0
x—1" x—l

6) lim(x—3+l =-1
x—1 X

8) lim(x2 - 1) = 26/3
x—3 X

10)|im( 1 - 1 ): o

x5 (x-5 x?-25

-1 1
12) li — =-
) o ((x—3)2 x—BJ .

2
14)|in{(2x—3) X +3} = 4
x—1 X -2

16) lxigz{(x—zyi}:o

18)|m{Ln(x 3. X *23} 0

+

20) LL@{(x—s).;} o

22) Iim[Ln(x +2), 3% } ~ Ind,
x—>-1 x+1

24) lin{ Ln(x + 2). 3J=o

26) nm{ et }

28) llm[ } -1/4

30) Im{(x 3) 6x+9} -1
32) lim[ ) 21 }z 0
X x° -1

34) lxir!'}[(x2 - 2).;} = o

36) Ixim[(x +2).Lnx]=+ w

38) limsenx = no tiene

X—>0



X% +x

39) lim =1
)Hl x?+1
2
- X
41 llm
)Hl 2x° +1
43) Iim2x+5=
x% + X
45) lim ——— =
M2~
2_
47) lim X=X -
X—3 X—3
x% —x
49) lim X =1/2
x—1 x -1
51) lim 2% =2 = 10
x—-1 X+

53) lim x% +2x+2

3 o0
x>1 x3 +3x% —3x— 1

55) lim x* -4 -

x>-2 x3 +2x +5x+10

57) li =18

) ><I—>n3} \/2x+ -3
v2x+5-3

59) >l<»2 2x -4 B 1/6

61) lim(3+4x%-5x%)=-

X—0

2
63) lim -2

x—n 4x = - Hx

3_
65) lim 52 !

x—% 3X° + 3

-3x°
67) lim
) x>0 x -3x°

=1/2

=1

69) lim 4x3 +2x

X—>00 2x2 x6

71) lim3-7x° +4x = o

X—>00

2 2

73) im VX2 673
""°°,/3x +2x
481x® _ 3

75) lim o 2% X 32
x> [ax® +10

o0

2

40 Ilm =2/3
)xaz X _1
- 3x
42) lim =0
)x—>0 X -1
44y lim 225
2
. X5 =X
46) lim =0
)x—>1 Lnx
x? +5
48) lim X3
o x3yox?ox-2
°0) m Xl
52) lim X~ -3
x->1 X -
2
54) lim d+x)" -1 _5
x—0 X
X —X
56) || m
58) lim X - - o
x—0 x _x

60) lim(4x* —sz—g) =+

62) lim(x?—3x) =+

X—0

2x2
64) lim———— =0
)xaw4x ~B5x*
3x°-1
66)lim— =
)wa4x4+5x %
68) lim X3 _0
) ~>ool x3

70) limvV2x +7 =+

X—>00

72) lim J6+2x =+

X—>+00

74) tim 3%
X_”O,/x2+10x

76) lim ——— “8x e =0
X—>w3’3x
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¥-3x% 1+ 2x
77) Ium—
x>® 31253 4 3x

79) lim(%/x2 “x + X3 +3x):+ 0

X—>+00
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81) Iim(‘°\’/X5 +5 —Jx? +2):

X—>0

lim(J4x® 4 2x 4 Jox® ~3x | =+o0

X—>0

83) Iim(\/x3 ~10x2 —Ix® -5

X—>00

85) I 1% ):oo
Dol x 2% - X2
+2.17_
X

L lxc+2 1
89)||m|: 5 X—2i|:+00

2

91) lim—S—=0

)leoox_3

93) lim 28X = 1} 0
X

3x+1 17
s} lim 3x-7 = 27
95) o(3x+2)

87) Iim{

X—>00

1
x—>1\ 2

X

x-1
99) llm (7X+5) 2X= 1
x—1\ 2x
podemos
-1
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x —>1\ 2X

X+3

09 et

x-3
105) hm("”) 1
Xx—>3\2x-2
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2
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=00

82)

-2
84) il—To 2x? - x5 =0

86) lim VA 42X _3/7 /5

X—>0 2x - 6

88) lim{Bx : E} =+ 0
X

X—0

X

92) |Im|:2—x3 x} 0

X—0 X—

90) LLO 512 :3x2} = +00

94) lim{iz ZX}Z 0
X—>—00| X—3
3x+1
i 3x—7 =
96) x£>n+100(3x+2) X-7 =+ 00

2x
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X—>—2\2x+3
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x—1

x-1
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104) lim (x-2) *
xX—2

102) lim (
x—1

1
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x—>3\2x-2

-Bx
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1
109)xlgmml5x_2)3X=Ind,nopodemos

2 3x—x2
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13) f(x)=1" x_2  >'*7° limf(x)
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x2+2 ) 5
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2
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X—>400

114)
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115) f(x) =1 2 - limf(x)
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